1 MPaBO Ha BHECEHNE TEXHUYECKNX N pa3MepHbIX n3MeHeHuA

Komnanus SMC coxpaHseT 3a cobol

O

MNocKMil NHeBMOUMIHHAP

mu

@25 ~ 63
® (OBarbHoe CeyeHue NopLUHs 0becneynBaeT KOMNAKTHOCTb MPY COXPaHEHUN BbIXOAHOMO YCUMuS.
® |llupnHa oT 24 MM (ans TMNopasmepa @25) 4o 50 MM (ans Tunopasmepa 263). - ___; ;"“ ﬁ" .
®  YCTaHOBKa KOMMAKTHbIX JATYMKOB MONOXEHNS BO3MOXHA Ha YeTbIpex NOBEPXHOCTSX. ) = E ] -
[laTumk NONoXeHNs He BbICTYMaEeT M3 MOHTAXHOTO Nasa, YTo NpeaoTBpaLLaeT ero NoBPEXLEHME. ;‘ L= | 5T
e [nuHbl xoaa 80 300 MM. ? 9 ’ i
®  Bo3moxeH MOHTax 6e3 KpenexHbIX 3aNiEMEHTOB. ‘a | " 4 :9 2 _
®  cnonHeHus ABYCTOPOHHEO AEACTBMUS C BYCTOPOHHIM LUTOKOM, A i, : l " -
OZHOCTOPOHHETO IENCTBUS C NPYXUHHBIM BbIABIKEHNEM/BO3BPATOM (N0 3anpocy) " . ’5::‘ g s 7
TeXHUYecKHe XapaKTepucTHKH ¢ f{ |
[JvameTp nopLuHs (MM) 25 32 40 50 | 63 ﬁ' = .
[vaveTp wroka () 12 14 16 20 35’/"
[MpuHLMN peicTens [IBYCTOPOHHETO AENCTBUS C OFHOCTOPOHHMM LUTOKOM ’l" ;.
Cpepa OunLLEHHbIN CKaTbIN BO3AYX
VicnbitatensHoe fasnenve (MMMa) 1.05
[nanasoH paboyux gasnenuin (MMa)| 0,05~ 0,7 ”ﬂMBIJ A 3aKa3a

CraHaapTHble AnMHBI X0aa, MM

5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100, 125,
150, 175, 200, 250, 300

D

u[B|

25

30

y4

[laTYMKN NonoXexus

[Manew, 1 CTONOPHOE KONbLO B KOMMMEKTE.

[ns unnuugpos cepun MDU ncnonb3yioTcs 3neKTpoHHble garumki nonoxenns D-MON, D-MOP, D-M9B n
repkoHoBble AaTunki nonoxenns D-A90, D-A93, D-A96. Ha unnunapbl Tunopaamepos 40 1 63 BO3MOXHa
YCTaHOBKa YCTOMYMBBIX K MArHUTHBIM MONsM AaT4nKOB nonoxeHus D-P3DW.

MuHUManbHas AnnHa Xoga npy UCMomnb30BaHUM AaTYMKOB NonoXeHus — 10 Mm.

Cmaska He TpebyeTtcs
[onyck no anuHe xoaa (Mm) +14
0
Temnepatypa pabouei -10 ~ 60 ,'{";{::;"“ Pesb6a wroka
1 okpyxatoLen cpeabl (°C) et BHYTPEHHAA
CKopOoCTb MOPLUHSI (MM/C) 50 ~ 500 D | ecto M | HapyxHas
[lemncpmposarne Ynpyroe
[LlonycTumbli kpyTaLuit momeHT (H-m) [ 0.25 0.55 | 1.25 | 2 l Xoa nopLus
[lonyck Ha NpoBOPOT LUTOKA +1° | +0.8° +0.5° Twn kpennenus Tunopazmep (oM. TexHuveckue
* ﬂpome)«yrquhle AJMHBI X04a no 3anpocy. B basosblit ZOF?JSII.UHR XapaKTepMCTMKM)
L | Hananax ()
Teoperuueckoe ycunue (H) E_’ out E IN F | Mepensi drarey [25 |
Turopaamep | Hanpasnetive S nopuHs Pabouee aasnerue (MMa) G | 3apHui driaHey % n::;‘:et ';Tzej pre
neincTeus (Mm2) 0.2 0.3 0.4 05 0.6 07 C | OnwHapHasi onopa c3agm m Re (:;1;. 232 ~ o63)
25 ouT 491 98 | 147 | 196 | 246 | 295 | 344 D | [isoitrasi onopa c3au %] TF | G 032~ 063
IN 378 76 113 151 189 227 265 MoHTaxHble 3aneMeHTbl B KOMMIEKTe
32 ouT 804 161 241 322 402 482 563
N 0 | %0 | 195 | 260 | 5 | % | 4% | 3amacHble YaCTH H MPHHAANENHOCTH
40 ouT 1257 251 377 503 629 754 880 SEKATIBEIOTCH OTAEBHO
IN 1056 21 317 422 528 634 739
- ouT 1963 | 393 | 589 | 785 | 982 | 1178 | 1374 Pemkomnnext | Tvnopaswep | Homep And sakasa
IN 1649 | 330 | 495 | 660 | 824 | 989 | 1154 (koMnnekT ynnoTHenwi) | 25 MUB25-PS
63 ouT 317 | 623 | 935 | 1247 | 1559 | 1870 | 2182 32 MUB32-PS
IN 2803 | 561 | 841 | 1121 | 1402 | 1682 | 1962 40 MUB40-PS
* TeopeTuyeckoe ycunue npy BolasuxkeHnn nopluks (H) = lasnexue (MMa) x S noptuns (Mm?) 50 MUB50-PS
. 63 MUB63-PS
Bec NHeBMOUMNMHAPA H KPENEXHbIX 3NeMeHToB (Kr)
KpenexHble anemeHTbl
Tunopaamep 25 32 40 50 63 =
Basosoe kpenneie 017 | 027 | 039 | 075 | 116 Kpenewowi —~Juopasuep) 25 | 32 | 40 | 50 | 63
EasoBLii Ha nariax 024 | 041 | 060 | 1.09 | 1.79 Nana') MU-L02 | MU-LO3 | MU-L04 | MU-LO5 | MU-L06
- Ha cpnaHue 027 | 041 | 062 | 121 | 199 ®narel MU-FO2 | MU-FO3 | MU-FO4 | MU-FO5 | MU-F06
Ha oguHapHoi onope 023 | 039 | 061 | 115 | 1.84 OpvHapHasi onopa MU-C02 | MU-C03 | MU-C04 | MU-CO5 | MU-C06
Ha npoywwte 024 | 043 | 065 | 122 | 1.92 MpoyumHa 3) MU-D02 | MU-D03 | MU-D04 | MU-D05 | MU-D06
[JlononHuTenbHbIA BeC Ha kaxable 50 mmxopa | 0.09 | 0.14 | 0.19 | 0.28 | 0.38 LLlapHupHbIZ HakoHeuHwk wToka | 1-MU02 | 1-MUO3 | 1-MU04 1-MU05
OnuapHas onopa 0.06 | 0.12 | 0.22 | 040 | 0.68 HakoHeuHvk-sunka 4 Y-MU02 | Y-MUO3 | Y-MU04 Y-MU05
KpenexHble| Mpoywma 0.07 | 016 | 0.26 | 047 | 0.76
STICMEHTE! LLlapHupHbI/ HakoHeuHuK WToka | 0.03 | 0.04 | 0.07 | 0.16 | 0.16 3 ﬂgnﬂnn?eﬁ: #zgzﬁ)ﬁaﬁﬂﬂ i;:zzzz%aﬁa;soﬁ? :&n.;:am YCTaHOBOYHbIE BUHTHI.
HakoHeYHMK-BUMKa 005 | 009 | 014 | 029 | 0.29 2; MarneL}, CTONOPHOE KOMbLIO 1 YCTAHOBOYHbIE BUHTI B KOMMIIEKTE.

[laTynKu NONOXEHUA 3aKa3bIBaKTCA OTAENLHO.

5-51




Plate Cylinder New
(e Series MU' 025, 032, 040, 050, 063

It is possible to mount small auto switches
in 4 directions. No stick-out
Easy mounting

Existing model

Small auto switch

@ Reduction of labor for work
(uew)

M Reduction of number of components M Takes a lot of labor and '
H No loss of components time because there are X Auto switch
@ Insert the auto switch. @ Fix the auto switch. many components. V’
Auto switch M Highly likely to lose
components

mounting bracket .

@ Available with a stroke up to 300 mm

Series MU Z; S\MIC

CAT.ES20-208A



Series MU

@ Can be mounted
@ Width: Max. 62% reduction without brackets

(in comparison with SMC CA2 cylinder) and in ﬂeXibIe WayS.

A Dimension Comparison (mm) Bottom mounting Side mounting Axial mounting
A
Size Reduction "' :
MU | CA2 ™™ e w| | ' \ §-I
25 | 24 | 60| 60% - | NS ‘\\ . I.I _I.i§
32 | 28| 70| 60% | R E

\\\J:\ \\\\\\‘ NN\

40 | 32 | 85| 62%
50 | 39 | 102 | 62%
63 | 50 | 116 | 57%

@ Various brackets are available to
@ Can be mounted with short pitch. accommodate a wide range of applications.

* Without auto switch (mm)
S Size E Foot | Flange | With knuckle joint | Clevis
[ 25 24 ' ] ]
N
32 28 Q "
N
40 32 §
! 0 = =|E1 III <=-Il| =-IIIID
o Joj |oj |o} &
& 1 \#} \#} 63 50 ;\\\\\\\\\\\\ N
N
Note) When the auto switch is mounted, the minimum mounting

pitch is restricted as shown in back page 3.

2-Color Indication Solid State Auto Switch

Appropriate setting of the mounting position can be performed without mistakes. For general Water resistant type
ON environments For environments exposed
"hﬂ to water and coolant
ﬁL . i Operating OFF
" T range | i i 1 ,
- iRdiG §F:d§ 1 }

: e » Green e : >
: : A : : g ?:f P—” J g s j

A @ light lights up at the Optimum o eatin osition = -

optimum operating position. 2 2 2l D-M9IW(V) D- M9|:|A(V)

Series Variations

Standard stroke (mm) Rod end
Action Type configuration
10 20 30 40 50 100 150 200 300

5 15 25 35 45 75 125 175 250
S'”g'emd; 00 0000000000000000
a’ 322 00000000000 0000000
Double JNINSESSEE S 40 0000000000000 00000
acting - ﬁ.,g.J.,_,.
a,,-. '-"' 50 000000000 000000000
L] 63 -0 0 0 0000000000000 00 Male
t thread,
Sor ; Female
pring return, thread
Spring extend 25 -0 red
32 00
0 0000
50 —0-0—0-0
63 —0-0-0-0
Features %SNC



Series MU
Rod End Allowable Load

Y axis

X axis —(—-F)Jr :

[imatae el
[ T

W

# |n case of a plate cylinder, although there is the case that a load is applied
in both X andY axis as illustrated, but the allowable lateral load is the same.

MU25 MU32 MuU40
7 f - 11 : 16 -
sl 18 14
5] \\, ............. ~ 81 _ 12
s € 7N £ 10NN
ko] g N o g4 DO SOPRUOOTPIE SSURSOORSTRR SIOPOURONE kel N
8 0 . Female g 8 R
i} ° . -
c c 4 c 6
i w 3 Male et . w
5] thread 7 e N 4
1 - [ 3 W
0 ? 0 ? 0 :
0 100 200 300 0 100 200 300 0 100 200 300
Stroke (mm) Stroke (mm) Stroke (mm)
MU50 MU63
257 40
I AN 304N\
£ N £ AN
- 15 5 Female - N
g e thread 8 204 RSN Fhemaée
k] . — = . threa
E 10 M?el‘;d;‘\/{ E \M\l\ 2 _
u e ale. el
5 . \\‘—k 10 thread
0 : : 0 :
0 100 200 300 0 100 200 300
Stroke (mm) Stroke (mm)
Plate Cylinder Operating Precautions
1. Operating speed <Chart> Series MU
Make sure to connect a speed controller to the cylinder and 500 %
adjust its speed to 500 mm/s or less. 300 MUDG?
When a load is applied to the rod end, adjust the speed so 200 LMULIS0 \
that the maximum speed should be no more than that shown MUD4‘0 \
in the chart for the corresponding load weight. 100 *MUD3'2 \—\
= N\ N\
I N\ AN
50 [MUTI25 NONNCY
_ N\ N\
R AVANAN
£ NN
k)
e \
g 10 WA
— N\ AN
NI\
\ N
5 ANH\NEIAN
\AVA
NN
N
1
0.5
50 100 200 300 500 1000
Maximum speed (mm/s)

Front matter 1



Plate Cylinder:
Double Acting, Single Rod

Series MU

025, 032, 040, 050, 063

How to Order

—r——I MgV
e MDU [BJ25][ |-[30/D[M|Z-[M9BWI[S

With auto switchT lNumber of auto switches
(Built-in magnet) Nil | 2 pcs.
Mounting S 1 pc.
B Basic n__ [“n"pcs.
L Foot
F Rod flange e Auto switch
G H'ead fIangle [ Nil [ Without auto switch
c Single CIeVI_S * Refer to the below table for
D Double clevis applicable auto switch models.
«Brackets are shipped together,
(but not assembled). i .
Size ® ®Rod end configuration
25 | Equiv. 925 piston area Nil Rod end female thread
32 | Equiv. 032 piston area M Rod end male thread
40 | Equiv. 40 piston area
50 | Equiv. 950 piston area e Action
63 | Equiv. 963 piston area “
Port thread type ¢ Built-in Magnet Cylinder Model
M thread 025 . If a built-in magnet cylinder without an auto
Nl Rc ¢Cylinder stroke (mm) switch is required, there is no need to enter
TN NPT ggg’ zgg Sr?fp?; é‘; 23 tandard Stroke the symbol for the auto switch.
TF G ’ (Example) MDUL32-30DZ
Applicable Auto Switches/Refer to Best Pneumatics No. 2 for further information on auto switches.
. Somcial func Electrical % Wiring Load voltage Auto switch model I;)e:d wi:e Iength (rg) Pre-wired rosficatl load
ype | Special function S ) : L pplicable loa
entry E (Output) DC AC | Perpendicular In-line i || ) | @) connector
3-wire (NPN) MONV M9N ® 00 O O oo
- — 3-wire (PNP) PV 12V M9PV MoP e e e O o |Coeut
'§ 2-wire 12V M9BV M9B ® 00 O @) —
o | SURR o Mo wew (e igisi0l O ..
= (2-color indication) . Relay,
2 Grommet [Yes|  2-wire 24V | 12V — M9BWV M9BW ® 00 O ©) — PLC
% Water resistant 3-wire (NPN) 5V,12V M9NAV:‘: M9NA:‘ 01000 S, IC circuit
T | (2-color indication) 3-wire (lPNP) M9PAV';* M9PA*; OO0 @O O
S . z-w!re 12V M9BAV™ M9BA* O |0|@|O O
lagnetic field resistan -wire —
(g-color indication) (Non-polar) - B PspwW™c? | @ | — @ | ® O
§ 3-Wi.re _ 5V _ A96V A96 o — 0| — — ICcircuit| —
T Yes|(NPN equivalent)
g —— |Grommet . 100V | A93V A93 | @ |—|[®|—| — | — | Rey,
5 Nong|  2Wre | 24V ] 12V e vores]  A9OV A | ® |— |@|—| — |iCout| PLC
+ Lead wire length symbols: 0.5 m-..ceoeee Nil (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.
im- -M (Example) MONWM
3m-. L (Example) MONWL

[ 11 Z (Example) MONWZ

+ For details about auto switches with pre-wired connector, refer to Best Pneumatics No. 2.

= Auto switches are shipped together, (but not assembled).

=+ The water resistant auto switch (D-M9TJA/MOLJAV) can be mounted, but the product itself is not designed to be water resistant.

Note 1) The D-M9OV/MOOOWV/MOLIAV/A9LV auto switches cannot be mounted on the ported surface with some cylinder strokes and sizes of fittings. This
should be checked beforehand.

Note 2) The magnetic field resistant auto switch (D-P3DW0) is available only with 340 to 863 of the existing MU series. Refer to page 23 for the how-to-order.

SvVC

O



Plate Cylinder: Double Acting, Single Rod Series U

Specifications
Bore size (mm) 25 ‘ 32 ‘ 40 ‘ 50 | 63

Action Double acting, Single rod

Fluid Air

Proof pressure 1.05 MPa

Maximum operating pressure 0.7 MPa

Minimum operating pressure 0.05 MPa

Ambient and fluid temperature —10 to 60°C

Lubrication

Not required (Non-lube)

Piston speed

50 to 500 mm/s

Stroke length tolerance

+1.4
0

Cushion

Rubber bumper

Mounting Foot, Rod flange, Head flange, Single clevis, Double clevis
Rod end configuration Rod end male thread, Rod end female thread
Allowable rotational torque 0.25 N-m 0.55 N-m 1.25 N-m 2.0 N-m
Rod non-rotating accuracy +1° +0.8° +0.5°
Standard Stroke
(mm)
Size Standard stroke (mm) Maximum manufacturable stroke
25, 32, 40 5, 10, 15, 20, 25, 30, 35, 40, 45, 50 300
50, 63 75, 100, 125, 150, 175, 200, 250, 300

x Other intermediate strokes can be manufactured upon
=% Strokes longer than 300 mm are not available.

Mounting Bracket/Part No.

receipt of order. Please contact SMC.

Mounting bracket Size 25 32 40 50 63
Foot Note 1) MU-LO2 MU-LO3 MU-L04 MU-L05 MU-L06
Flange MU-F02 MU-F03 MU-F04 MU-F05 MU-F06
Single clevis MU-C02 MU-CO03 MU-C04 MU-C05 MU-C06
Double clevis Note 3) MU-D02 MU-D03 MU-D04 MU-DO05 MU-D06

Q Note 1) When ordering foot bracket, order 2 pieces per cylinder.
Note 2) Accessories for each mounting bracket are as follows.

Foot/Flange/Single clevis: Body mounting bolt

Double clevis: Clevis pin, Type C retaining ring for axis, Body mounting bolt
Note 3) Clevis pin and retaining ring are shipped together with double clevis.

Note 4) The tightening torque for body mounting bolts is

shown in the below table.

Note 5) The application of a locking agent (Example: Loctite® 242) to body mounting bolts is

recommended.

Recommended Tightening Torque for Mo

unting Bracket on Body

Bore size Thread size Tightening torque (N-m)
MU25 M5 x 0.8 4.9105.9
MU32 M6 x 1 8.28t0 10.12
MU40 M8 x 1.25 19.8 t0 24.2
MU50 M10x 1.5 39.6 t0 48.4
MU63 M12 x 1.75 68.4 to 83.6

O
2



Series MU

Theoretical Output

OUT <
IN —>
(N)
Size | Rod size |Operating| Piston area Operating pressure (MPa)
(mm) | direction | (mm?) 0.2 0.3 0.4 0.5 0.6 0.7
o5 12 ouT 491 98 147 196 246 295 344
IN 378 76 113 151 189 227 265
32 14 ouT 804 161 241 322 402 482 563
IN 650 130 195 260 325 390 455
40 16 ouT 1257 251 377 503 629 754 880
IN 1056 211 317 422 528 634 739
50 20 ouT 1963 393 589 785 982 1178 1374
IN 1649 330 495 660 824 989 1154
63 20 ouT 3117 623 935 1247 1559 1870 2182
IN 2803 561 841 1121 1402 1682 1962
Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm?)
Weight
(kg)
Size 25 32 40 50 63
Basic 0.17 0.27 0.39 0.75 1.16
) Foot 0.24 0.41 0.60 1.09 1.79
Elzis;“ Flange/Rod end, Head end 0.27 0.41 0.62 1.21 1.99
Single clevis 0.23 0.39 0.61 1.15 1.84
Double clevis (With pin) 0.24 0.43 0.65 1.22 1.92
Additional weight per each 50 mm of stroke 0.09 0.14 0.19 0.28 0.38
(Slil)régulslg Isl\g\slis pivot bracket) 0.06 0.12 0.22 0.40 0.68
Mounting "5, e clevis (With pin
alzgﬁt (Single clevis ;()ivot bpragket) 0.07 0.16 026 0.47 0.76
Single knuckle joint 0.03 0.04 0.07 0.16 0.16
Double knuckle joint (With pin) 0.05 0.09 0.14 0.29 0.29
Additional Weight
-
©
Bore size (mm) 25 32 40 50 63
Rod end male thread Male thread 12 23 27 53 53
Nut 8 10 17 32 32
Note) Weight of single clevis and double clevis includes 2 bolts for mounting bracket.
Calculation:
(Example) MUL32-100DZ
® Basic weight -+-eeeeeeeeeenne 0.41 (Foot, Equivalent to 932)
® Additional weight --------- 0.14/50 stroke
© StrOKE -+everrrrrrrnrrrerrniannnnnn 100 stroke

0.41 + 100/50 x 0.14 = 0.69 kg

O
2



Construction

Plate Cylinder: Double Acting, Single Rod Series MU

o) 0g

Component Parts

o l

W g7

|

\

—1 |

“A” section MU[J25

Replacement Parts/Seal Kit

No. Description Material Note Bore size (mm) Kit no. Contents
1 |Rod cover Aluminum alloy Anodized 25 MUB25-PS
2 |Head cover Aluminum alloy Anodized 32 MUB32-PS
3 | Cylinder tube Aluminum alloy Hard anodized 40 MUB40-PS %e tq%f’ by above
4 | Piston Aluminum die-casted Chromated 50 MUB50-PS
5 | Piston rod Carbon steel Hard chrome plated 63 MUB63-PS
6 |Bushing Oil-impregnated sintered alloy « Seal kit includes (D to 3. Order the seal kit, based on each bore size.
7 Hexagon socket Stainless steel # Since the seal kit does not include a grease pack, order it separately.
head bolt Grease pack part no.: GR-S-010 (10 g)
8 | Wear ring Resin
9 | Magnet — Only built-in magnet type
10 | Rod end nut Rolled steel rogglr}: da:;zﬁg‘igrg; d
11 | Piston seal NBR
12 | Rod seal NBR
13 | Bumper Urethane

O



Series MU

Basic: MUB

Rod end male thread GX
a — )
5 O ,
>
&)
2xP
Cylinder port
NX NS + Stroke NX
4 x ET
Width across
G| e | &
0 MM
T 7 @} @:ﬁv
ol & : : z i o
B ; é
AL
B A K N N 4 x ND through
Female thread bore size sNE
H S + Stroke 4 x 2 x sNC counterbore
ZZ + Stroke
>
m
A =
] ] m
U_K_A — fj}
Rod end nut
2xBT °
\30}‘ d
BX BS + Stroke BX ‘
A
Rod end female thread E
|
"N ® -
e o
| Partno. | Size d H1 | B1 | C1 | D1
KA/ @ @ NT-03 25 | M10x1.25 | 6 | 17 |19.6 | 16,5
NT-MUO3 32 M12 x 1.25 7 19 [ 219 |18
= Dimensions except mentioned on K i NT-04 40 M14x 1.5 8 | 22 254 21
the right are the same as male NT-05 50, 63 M18x 1.5 11 27 [ 31.2 |26
thread type. + A nut is attached to the rod Rod end nut material: Carbon steel
However, K and KA dimensions ZZ + Stroke end male thread as standard. Surface treatment: Nickel plated
are the same as male thread type.
(mm)
Model |Stroke range (mm)] A | AL | B | BS BT BX | BY | C D ET EY |[GX|GY | H K | KA
MUB25 5 to 300 22 [19.5] 24 37 |[M5x0.8depth7.5| 9 7 54 | 12 | M5x0.8depth11| 26 |10 5 36 | 55| 10
MUB32 5 to 300 26 235 28 | 45 M6 x 1 depth 12 6.5 8 68 | 14 M6 x 1 depth 11 42 85| 55| 40 | 55| 12
MUB40 5 to 300 30 |27 32 44 | M8 x 1.25 depth 13| 8 9 86 | 16 | M8x 1.25depth 11| 54 9 7 45 | 6 14
MUB50 5 to 300 35 |32 39 | 54 |M10x 1.5 depth 14.5[10 9 | 104 | 20 |[M10x1.5depth15| 64 [11.5]| 8 53 | 7 18
MUB63 5 to 300 35 |32 50 53 | M12x1.75depth 18 | 11 12 [ 124 | 20 [|M12x1.75depth15] 72 | 11.5]10 56 | 7 18
(mm)
P Rod End Female Thread (mm)
Model
ode MM N NC ND NE | NS | NX | NY — ™ [ TF S |2z Vodal A MM 77
MUB25 [M10 x 1.25| 16.5 [7.5 depth 4.5| M5x 0.8 | 4.3 | 43 6 26 |[M5x08| — — 55 91 MUB25| 14 |[M6x1depth12| 69
MUB32 |[M12 x 1.25| 18 9depth5.5| M6x1 51| 45 | 6.5 | 28 |Rc1/8 |NPT1/8| G1/8 | 58 98 MUB32| 14 |M8x1.25depthi13| 72
MUB40 [M14 x 1.5| 18.5 [10.5depth 6.5|M8 x 1.25| 6.9 | 44 8 36 |Rc1/8 |INPT1/8| G1/8 | 60 | 105 MUB40| 15 |[M8x1.25depth13| 75
MUB50 [M18 x1.5| 24 [13.5depth85|M10x 1.5| 8.7 | 54 |10 42 |Rc1/4 INPT1/4| G1/4| 74 | 127 MUB50| 18 |Mi0x15depthi5| 92
MUBG63 [M18 x 1.5| 24 |17 depth 10.5|M12x1.75| 10.5 | 53 |11 46 |Rc1/4 [NPT1/4| G1/4 | 75 | 131 MUBG63| 21 |Mi0x15depthi15| 96

* The position of the 4 flats of the piston rod is +3° in relation to the cylinder side surface.

5

& S\NC



Plate Cylinder: Double Acting, Single Rod Series U

Dimensions with Mounting Bracket

Foot
> a (mm)
4 \ IYAY @ Model | LD |LH| LS |LT |LX |LY |LZ | X Y | Z2Z
= MUL25 | 55| 29 | 79|32 | 11 | 56| 23 | 12 6 | 109
I
@ - 4xoLD ﬂ —@H MUL32 | 66| 37 | 90|45 | 12 | 71| 27 | 16 8 | 122
\J/ N MUL40 | 9 | 46 | 96|45 | 15 | 89| 31 | 18 | 10 | 133
- T MUL50 |11 | 57 [ 116 | 5 18 [ 109 | 37 | 21 | 11 [ 159
L'-l‘ 4l | Y X XY, MUL63 | 13.5| 67 | 123 | 6 22 | 129 | 48 | 24 | 14 | 169
LZ LS + Stroke Foot bracket material: Rolled steel
ZZ + Stroke Surface treatment: Nickel plated
Rod flange Head flange
2 xoFD 2xgFD
\~ | —
>| > _ T f [ : [ 1A ; _ ! > >
(MR H \ \ Y2 (ApTS
w | —LFT
FX FT ZZ + Stroke FX
FZ T i
(mm)
Model FD | FT | FV | FX | FY | FZ | ZZ
MUF25, MUG25| 55| 8 | 76| 14 | 66 | 24 | 99
MUF32, MUG32| 7 8 | 94| 16 | 82| 28 | 106
MUF40, MUG40| 9 9 | 118 | 18 | 102 | 32 | 114
MUF50, MUG50| 11 12 | 144 | 22 | 126 | 39 | 139
MUF63, MUG63| 13 14 | 168 | 30 | 148 | 50 | 145
Flange bracket material: Carbon steel
. . . . . Surface treatment: Nickel plated
Single clevis Single clevis Double clevis
Double clevis
=
Q + Stroke i |———J
- |
T F 25
@ —‘ =i ffsgfl* @
@ B} ; i JJ', N
dil =} = ]
& N1 :
| |
. 5CDwo —L;_ cX=82 .l |CXias
GZ=3%
- ————
Z + Stroke RR (mm)
27 + Stroke Model CDH10|CX |[CZ | L | Q [RR| Z | ZZ |Rotation range (6°)
MUC25, MUD25 | 8%**| 9 | 18 | 17 [125]| 8 | 108|116 100
MUC32, MUD32 | 10'3°° | 11 | 22 | 22 [ 142 | 10 | 120|130 90
MUC40, MUD40 | 10%°* | 13 | 26 | 27 [ 159 | 10 | 132|142 80
MUC50, MUD50 | 147°° | 16 | 32 | 32 | 191 | 14 | 159 | 173 80
MUC63, MUD63 | 145°° | 16 | 32 | 38 | 207 | 16 | 169 | 185 80

Clevis pin and retaining ring are shipped
together with double clevis.

-~
Z

SvVC

Single/Double clevis material: Cast iron
Surface treatment: Painted

6



Plate Cylinder:
Double Acting, Double Rod

Series MUW

025, 032, 040, 050, 063

How to Order

B vuwB25[ -EoD

[ T T T 11
D

e MDUW (Bl25] |-[30

Z-M9BW|S

With auto swit chT Number of auto switches
(Built-in magnet) R 2 pcs.
S 1 pc.
Double rod n_ |“n"pcs.
Mounting Auto switch
B I?:aslc [ Nil [ Without auto switch
L oot * Refer to the below table for
F Rod flange applicable auto switch models.
«Brackets are shipped together, . .
(but not assembled). ®Rod end configuration
Size ® Nil Rod end female thread
- - M Rod end male thread
25 | Equiv. 925 piston area
32 | Equiv. 932 piston area e Action
40 | Equiv. 40 piston area ﬂ Double acting
50 | Equiv. 850 piston area
63 | Equiv. 963 piston area e Cylinder stroke (mm)
Port th dt Refer to “Standard Stroke”
or rea e e on page 8. AT :
yp pag Built-in Magnet Cylinder Model
) M thread 025
Nil Rc If a built-in magnet cylinder without an auto
TN | nPT sgg' Zgg switch is required, there is no need to enter
TF G ’ the symbol for the auto switch.

(Example) MDUWL32-30DZ
Applicable Auto Switches/Refer to Best Pneumatics No. 2 for further information on auto switches.

Electrical = - Load voltage Auto switch model Lead wire length (m) Pre-wired
Type | Special function it =] ring ’ . 05|1]13|5 § Applicable load
y | 8| (Output) DC AC | Perpendicular In-line ) connector
2 P (Ni) (M) [ (L) | (D)
3-wire (NPN) MONV M9N ® 060 O O o
V,12V |
< - 3-wire (PNP) SV, MOPV M9P e @ @ O 0O C circuit
_.‘-é 2-wire 12V M9BV M9B ® 00 O O —
o | o 3-wire (NPN) MIONWV MONW ® 060 O O -
o | Diagnostic indication — 5V,12V IC circuit
5 | (2-color indication) S-wire (.PNP) M9PWV MoPW ® @ e O ©) Relay
b Grommet [Yes|  2-wire 24V 12V — M9BWV M9BW ® 00 O O — PLC‘
£ | Water resistant Swire (NPN) 5V, 12V B, O O 1@ 0l Ol gimit
2 | (2-c0l0r indication) 3-wire (PNP) ’ M9PAV*- | M9PA~ | O [O[(@[O] O
g 2-wire 12V M9BAV** M9BA™ O|10|@|O O
Magnetic field resistant 2-wire _ Note 2) —
(2-color indication) (Non-polar) B P3DW o o — o0 O
5 3-wire . _—
3% Grommet | Y€8 (NPN equivalent) 5V - A96V A96 ® | — (0| — — IC circuit| —
H -
<o owire | 2av | 12y 100V A93V A93 o — (o[ [ — — | Relay,
Bl None 100V orless A90V A90 o — |0 |— — IC circuit| PLC
« Lead wire length symbols: 0.5 meeeeee Nil (Example) MONW * Solid state auto switches marked with “O” are produced upon receipt of order.

( )
-M (Example) MONWM
- - L (Example) MONWL
5meeeeeeens Z (Example) MONWZ
+ For details about auto switches with pre-wired connector, refer to Best Pneumatics No. 2.
= Auto switches are shipped together, (but not assembled).
=+ The water resistant auto switch (D-M9TJA/MOCIAV) can be mounted, but the product itself is not designed to be water resistant.
Note 1) The D-M9OV/M9OOWV/MOIAV/A9LV auto switches cannot be mounted on the ported surface with some cylinder strokes and sizes of fittings. This
should be checked beforehand.
Note 2) The magnetic field resistant auto switch (D-P3DW0) is available only with 340 to 863 of the existing MU series. Refer to page 23 for the how-to-order.

7 SMC

O



Plate Cylinder: Double Acting, Double Rod Series M U W

Specifications
Bore size (mm) 25 | 32 | 40 | 50 | 63
Action Double acting, Double rod
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.05 MPa
Ambient and fluid temperature -10to 60°C

Lubrication

Not required (Non-lube)

Piston speed

50 to 500 mm/s

Stroke length tolerance

+1.4
0

Cushion Rubber bumper
Mounting Foot, Rod flange
Allowable rotational torque 0.25 N-m 0.55 N-m 1.25 N-m 2.0 N-m
Rod non-rotating accuracy +1° +0.8° +0.5°
Standard Stroke
(mm)
Size Standard stroke (mm) Maximum manufacturable stroke
25, 32, 40 5,10, 15, 20, 25, 30, 35, 40, 45, 50 300
50, 63 75, 100, 125, 150, 175, 200, 250, 300

* Other intermediate strokes can be manufactured upon receipt of order. Please contact SMC.

Q =+ Strokes longer than 300 mm are not available.

Mounting Bracket/Part No.

Size
Mounting bracket 25 32 40 50 63
Foot Note 1) MU-L02 MU-LO3 MU-LO4 MU-L05 MU-L06
Rod flange MU-F02 MU-F03 MU-F04 MU-F05 MU-F06

Note 1) When ordering foot bracket, order 2 pieces per cylinder.

Note 2) Body mounting bolts are attached to the foot and rod flange.

Note 3) The tightening torque for body mounting bolts is shown in the below table.

Note 4) The application of a locking agent (Example: Loctite® 242) to body mounting bolts is

recommended.

Recommended Tightening Torque for Mounting Bracket on Body

Bore size Thread size Tightening torque (N-m)
MU25 M5 x 0.8 49t05.9
MU32 M6 x 1 8.28 t0 10.12
MU40 M8 x 1.25 19.8t024.2
MU50 M10x 1.5 39.6 to 48.4
MU63 M12 x 1.75 68.4 to 83.6

A\ Warning

When removing or installing a workpiece using rod end threads, do so
while securing the width across flats on the removing or installing side.

If applying a torque on the piston rod without securing the width across
flats, connection threads inside are loosened, which may cause accidents

or malfunctions.

O
2




Series MUW

Theoretical Output

OUT<— |
N — |
(N)
Size |Rod size| Operating |Piston area Operating pressure (MPa)
(mm) | direction | (mm?) 0.2 0.3 0.4 0.5 0.6 0.7
25 12 IN/OUT 378 76 113 151 189 227 265
32 14 IN/OUT 650 130 195 260 325 390 455
40 16 IN/OUT 1056 211 317 422 528 634 739
50 20 IN/OUT 1649 330 495 660 824 989 1154
63 20 IN/OUT 2803 561 841 1121 1402 1682 1962
Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm?)
Weight
_
(kg)
Size 25 32 40 50 63
Basic 0.18 0.31 0.46 0.87 1.34
Basic weight | Foot 0.25 0.45 0.67 1.21 1.97
Rod flange 0.28 0.45 0.69 1.33 217
Additional weight per each 50 mm of stroke 0.15 0.22 0.29 0.44 0.55
Mounting Single knuckle joint 0.03 0.04 0.07 0.16 0.16
bracket weight | Double knuckle joint (With pin) 0.05 0.09 0.14 0.29 0.29
Additional Weight
—
@
Bore size (mm) 25 32 40 50 63
Male th 4 1 1
Rod end male thread ale thread 24 46 5 06 06
Nut 16 20 34 64 64

Calculation:
(Example) MUWL32-100DZ
® Basic weight

e Additional weight

® Stroke eeereereeeseeseeneaens 100 stroke

-0.22/50 stroke

0.45 (Foot, Equivalent to 232)

0.45 + 100/50 x 0.22 = 0.89 kg

O
2



Construction

Plate Cylinder: Double Acting, Double Rod Series M U W

X 4 @ i ® ©®© ®
“pn ] \ / 1
3 Q | |
% } . JITIN _ }
“A” section MULCI25
Component Parts Replacement Parts/Seal Kit
No. Description Material Note Bore size (mm) Kit no. Contents
1 | Rod cover Aluminum alloy Anodized 25 MUW25-PS
2 | Cylinder tube Aluminum alloy Hard anodized 32 MUW32-PS
; - Set of nos. above
3 | Piston Aluminum alloy Chromated 40 MUWA40-PS @), @, @
4 | Piston rod A Carbon steel Hard chrome plated 50 MUW50-PS
5 | Piston rod B Carbon steel Hard chrome plated 63 MUWG63-PS
6 | Bushing Oil-impregnated sintered alloy + Seal kit includes () to (3. Order the seal kit, based on each bore size.
Hexagon socket ) * Since the seal kit does not include a grease pack, order it separately.
7 head bolt Stainless steel Grease pack part no.: GR-S-010 (10 g)
8 | Wear ring Resin
9 | Magnet — Only built-in magnet type
Only attached to
10 | Rod end nut Rolled steel rod end male thread
11 | Rod seal NBR
12 | Piston seal NBR
13 | Bumper NBR

10

O



Series MUW

Basic: MUWB

Rod end male thread GX GX
>
(Y]
WA S A : & E%
Q ] .
%
2xP
Cylinder port 4 x ND through
Female thread bore size gNE
NX NS + Stroke NX 4 x 2 x 8NC counterbore 4xET
Width across Width across
flats KA ; flats KA
% R{ MM
ol : : : i S &
© Ors
] ©)
AL AL
B A K N N K A
H S + Stroke H + Stroke
ZZ + 2 x Stroke
> >
m m
2 BT Rod end nut
BX BS + Stroke BX o
\30# _d
| -
— |
Rod end female thread 5 5
MM MM |
& . B
1:( (mm)
] ) ) Part no. | Size d H1|B1| C1| D1
KA / @» @ \KA NT-03 25 |M10x1.25| 6|17 |19.6]|16.5
+ Dimensions except mentioned Rl T eI SR o EA
on the right are the same as K| i K| NT-04 40 | M14x1.5 | 8221254121
male thread type. NT-05 |50,63| M18x1.5 | 11 | 27 [31.2]26
However, K and KA dimensions H H + Stroke = A nut is attached to the Rod end nut material: Carbon steel
are the same as male thread 27 + 2 x Stroke ;?gn%r;?dTale thread as Surface treatment: Nickel plated
type. (2 pieces for double rod type)
(mm)
Model |Strokerange (mm)] A | AL | B | BS BT BX | BY | C D ET EY |[GX|GY | H K | KA
MUWB25| 5 to 300 22 |19.5| 24 37 |M5x0.8depth7.5| 9 7 54 | 12 |[M5x0.8depth11| 26 |10 5 36 | 55| 10
MUWB32| 5 to 300 26 | 23.5| 28 45 M6 x 1 depth 12 6.5 8 68 | 14 M6 x 1 depth 11 42 85| 55| 40 | 55 | 12
MUWB40| 5 to 300 30 |27 32 44 |M8 x 1.25 depth 13| 8 9 86 | 16 | M8x 1.25depth 11| 54 9 7 45 | 6 14
MUWB50| 5 to 300 35 |32 39 | 54 |M10x1.5depth 14.5[/10 9 | 104 | 20 [M10x1.5depth15| 64 [11.5| 8 53 | 7 18
MUWB63| 5 to 300 35 |32 50 53 |[M12 x 1.75 depth 18] 11 12 [ 124 | 20 | M12x1.75depth15] 72 | 11.5]10 56 | 7 18
(mm)
P Rod End Female Thread (mm)
Model MM N NC ND NE | NS | NX | NY — TIN | TF S |2z Vodal A MM 77
MUWB25/M10 x 1.25| 16.5 |7.5 depth 4.5| M5x 0.8 | 4.3| 43 6 26 |[M5x08] — — 55 | 127 MUWB25| 14 |M6x1depth12| 83
MUWB32|M12x1.25| 18 | 9depth 5.5 | M6 x 1 51| 45 | 65| 28 | Rci/8 |NPT1/8| G1/8 | 58 | 138 MUWB32| 14 |[M8x1.25depth13| 86
MUWB40/M14 x 1.5| 18.5 |10.5depth 6.5| M8x 1.25 | 6.9 | 44 8 36 | Rc1/8 |[NPT1/8| G1/8 | 60 | 150 MUWBA40| 15 [M8x1.25depth 13| 90
MUWB50/M18 x 1.5/ 24 [13.5depth8.5| M10x1.5| 8.7 | 54 |10 42 | Rc1/4 |NPT1/4| G1/4 | 74 | 180 MUWB50| 18 |Mi0x15depth15] 110
MUWB63|M18 x 1.5 24 17 depth 10.5 | M12x1.75| 10.5| 53 | 11 46 | Rc1/4 [NPT1/4| G1/4 | 75 | 187 MUWBG63| 21 |[Mi0x1.5depth15] 117

= The position of the 4 flats of the piston rod is different from the above drawing. Position of the 4 flats of the piston rod for double rod type is not the same.

11

~
Z

SvVC



Plate Cylinder: Double Acting, Double Rod Series M U W

Dimensions with Mounting Bracket

Foot

H_E_
N 1O ©
' w | J
O

&
“ B @
T QE—\% T

LYy

/7 \\
N\
>
S
[w)
&

f

‘LX‘ 5 |y X |y
LZ LS + Stroke
(mm)
Model LD | LH | LS | LT | LX | LY | LZ X Y
MUWL25| 55| 29 79 | 3.2 11 56 | 23 12 6
MUWL32| 6.6 | 37 90 | 45 | 12 71 | 27 16 8
MUWL40| 9 46 96 | 45 | 15 89 | 31 18 10
MUWL50| 11 57 116 | 5 18 109 | 37 21 11
MUWLG63| 13.5 | 67 123 | 6 22 129 | 48 24 14
Foot bracket material: Rolled steel
Surface treatment: Nickel plated
Rod flange
2 xgFD

) —
&

o
@

FX FT

(mm)

FZ Model | FD | FT | FV | FX | FY | FZ
MUWF25| 55| 8 | 76 | 14 | 66 | 24

MUWF32| 7 8 | 94| 16 | 82| 28

MUWF40| 9 9 [ 118 | 18 | 102 | 32

MUWF50| 11 12 | 144 | 22 | 126 | 39

MUWF63|13 | 14 | 168 | 30 | 148 | 50

Rod flange bracket material: Carbon steel
Surface treatment: Nickel plated

12

O
2



Plate Cylinder:
Single Acting, Spring Return/Extend

Series MU

025, 032, 040, 050, 063

How to Order

B vuB|25 -io[smz

[ ]
g Mpu(BJ25][ |-[10[SIM/Z-[M9BWI[S

With auto switchT lNumber of auto switches
(Built-in magnet) Nil 2 pes.
Mounting S 1 pe.
B Basic n n” pcs.
II; - (':‘f’l"‘ Auto switch
o€ Tange [ Nil [ Without auto switch
G Head flange
c Single clevis * Refer to the below table for
9 applicable auto switch models.
D Double clevis
*Brackets are shipped together, ®Rod end configuration
(but not assembled). . Nil | Rod end female thread
Size M Rod end male thread
25 | Equiv. 925 piston area
32 | Fauw. 082 piston area Built-in Magnet Cylinder Model
40 | Equiv. 940 piston area ® Action g y
50 | Equiv. 250 piston area S | Single acting, Spring return Ifa bunt.-ln r'rjagnet.cyllnder Wl.thout an
63 | Equiv. 263 piston area T |Single acting, Spring extend | 2Ut0 switch is required, there is no need
to enter the symbol for the auto switch.
Port thread type ® (Example) MDUL32-10TZ
i M thread 025 .
Nil Ro ® Cylinder standard stroke (mm)
TN | NPT Zgg' Zgg 025, 932 5,10
TF G ’ 240, 850, 863 | 5, 10, 15, 20
Applicable Auto Switches/Refer to Best Pneumatics No. 2 for further information on auto switches.
Electrical 5 - Load voltage Auto switch model Lead wire length (m) Pre-wired
Type | Special function ontr S ring ’ . 05|1(13]|5 § Applicable load
Yy | 8| (Output) DC AC | Perpendicular In-line ) connector
2 P (Nil) [(M)| (L) | (Z)
3-wire (NPN) MONV M9N ® 00 O O L
5V,12V IC t
. S 3-wire (PNP) M9PV MPP | @ @@/ 0| O eredt
£ 2-wire 12V M9BV M9B ® 00 O O —
H oot it 3-wire (NPN) PRy MINWV MONW [ @ [®@ @O O [ .
2 ('g‘gcg‘l’;';g‘lc;m” 3-wire (PNP) : M9PWV M9PW ® @0 O| O Rela
& Grommet |Yes| _2wire | 24V [12v | — [ M9BWV | M9BW | @ @ @ [O| O e s
5 | ater resistant 3-wire (NPN) 5V 12V M9NAV* MONA® | O [O[@[O] O [, .
2 | (200lor indication) 3-wire (PNP) ’ MOPAV” | M9PA” [ O [O[@|O| O
g 2-wire 12V M9BAV** M9BA™ O ]10|®@|O O
Magnetic field resistant 2-wire o Note 2) —
(2-color indication) (Non-polar) _ P3DW ™ e —|0 0 O
= 3-wire . e
3 :% Grommet | 7€S|(NPN equivalent) 5V - A96V A96 ® | —|® —| — |ICcicut| —
€ o owire oav | 12y | 100V A93V A93 o —|0 —| — — | Relay,
3 None 100V or less A90V A90 o —| 0 — — IC circuit| PLC
« Lead wire length symbols: 0.5 m-eeeeee Nil (Example) MONW * Solid state auto switches marked with “O” are produced upon receipt of order.

( )
-M (Example) MONWM
s L (Example) MONWL
5meeeens Z (Example) MONWZ

= For details about auto switches with pre-wired connector, refer to Best Pneumatics No. 2.

= Auto switches are shipped together, (but not assembled).

=x The water resistant auto switch (D-M9LCIA/M9LIAV) can be mounted, but the product itself is not designed to be water resistant.

Note 1) The D-M9OIV/MOTIWV/M9IAV/A9LIV auto switches cannot be mounted on the ported surface with some cylinder strokes and sizes of fittings. This
should be checked beforehand.

Note 2) The magnetic field resistant auto switch (D-P3DWO) is available only with 40 to 263 of the existing MU series. Refer to page 23 for the how-to-order.

13 SMVC

O



Plate Cylinder: Single Acting, Spring Return/Extend Series M U

Specifications
Bore size (mm) 25 | 32 | 40 | 50 | 63
Action Single acting, Spring return/Spring extend
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.18 MPa
Ambient and fluid temperature —-10 to 60°C

Lubrication Not required (Non-lube)
Piston speed 50 to 500 mm/s
Stroke length tolerance 4
Cushion Rubber bumper
Mounting Foot, Rod flange, Head flange, Single clevis, Double clevis
Allowable rotational torque 0.25 N-m 0.55 N-m 1.25 N-m 2.0 N-m
Rod non-rotating accuracy +1° +0.8° +0.5°
Standard Stroke
(mm)
Adti Size
otion 25 | 32 a0 | 50 | 63
Spring return/Spring extend 5,10 5,10, 15, 20
+ For strokes other than above, please contact SMC.
Mounting Bracket/Part No.
. Size| o5 32 40 50 63
Mounting bracket
Foot Note 1) MU-LO02 MU-L03 MU-L04 MU-L05 MU-L06
Flange MU-F02 MU-F03 MU-F04 MU-F05 MU-F06
Single clevis MU-C02 MU-C03 MU-C04 MU-C05 MU-C06
Double clevis Note 3) MU-D02 MU-DO03 MU-D04 MU-DO05 MU-D06

Note 1) When ordering foot bracket, order 2 pieces per cylinder.

Note 2) Accessories for each mounting bracket are as follows.
Foot/Flange/Single clevis: Body mounting bolt
Double clevis: Clevis pin, Type C retaining ring for axis, Body mounting bolt

Note 3) Clevis pin and retaining ring are shipped together with double clevis.

Note 4) The tightening torque for body mounting bolts is shown in the below table.

Note 5) The application of a locking agent (Example: Loctite® 242) to body mounting bolts is
recommended.

Recommended Tightening Torque for Mounting Bracket on Body

Bore size Thread size Tightening torque (N-m)
MU25 M5 x 0.8 491t05.9
MU32 M6 x 1 8.2810 10.12
MU40 M8 x 1.25 19.8t024.2
MU50 M10x 1.5 39.6 to 48.4
MU63 M12 x 1.75 68.4 to 83.6

O
2

14



Series MU

Theoretical Output

OUT<=—
IN  —
(N)
. i . Sprin
Action Size ?i(z)g %ﬂzza;it;nng P;;c;n il [ (17 reacti%n f%rce
(mm) (mm%) 02 [ 03 [ 04 | 05| 0.6 | 0.7 |Secondary| Primary
25 12 ouT 491 68 | 117 | 166| 216| 265| 314 30 15
Spring 32 14 ouT 804 | 119 | 199 | 280| 360| 440| 521 42 24
return 40 16 ouT 1257 | 195 | 321 | 447 | 573| 698 | 824 56 30
50 20 ouT 1963 | 346 | 542 | 738| 935|1131|1327 76 47
63 20 ouT 3117 | 510 | 822 | 1134|1446 1757|2069 | 113 61
25 12 IN 378 46 | 83| 121| 159| 197| 235 30 15
Spring 32 14 IN 650 88 | 153 | 218| 283 | 348| 413 42 24
extend 40 16 IN 1056 | 155 | 261 366| 472| 578| 683 56 30
50 20 IN 1649 | 283 | 448 | 613 | 777 | 942|1107 76 47
63 20 IN 2803 | 448 | 728 |1008|1289|1569|1849| 113 61
Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm?2)
Weight
-
(kg)
Size 25 32 40 50 63
5 stroke 0.21 0.26 0.55 1.02 1.51
Basic 10 stroke 0.22 0.34 0.58 1.05 1.56
weight 15 stroke — — 0.60 1.08 1.60
20 stroke — — 0.62 1.12 1.65
_ Foot 0.07 0.14 0.21 0.34 0.63
g"r:glf(‘gtng Flange/Rod end, Head end 0.10 0.14 0.23 0.46 0.83
weight Single clevis 0.06 0.12 0.22 0.40 0.68
Double clevis (With pin) 0.07 0.16 0.26 0.47 0.76
(Slgr;gulglglgl\c/al\slis pivot bracket) 0.06 0.12 022 040 0.68
Accessory [ ible clevis (With pin
\tljvzlicg)ﬁett (Single clevis é)ivot bpragket) 0.07 0.16 026 047 076
Single knuckle joint 0.03 0.04 0.07 0.16 0.16
Double knuckle joint (With pin) 0.05 0.09 0.14 0.29 0.29
Additional Weight
-
(@
Bore size (mm) 25 32 40 50 63
Rod end male thread Male thread 12 23 27 53 53
Nut 8 10 17 32 32

Note) Weight of single clevis and double clevis includes 2 bolts for mounting bracket.

Calculation:
(Example 1) MUB40-15S(T)Z
® Basic weight

15

.................. 0.60 kg

(Example 2) MUC50-5S(T)Z
® Basic weight
® Mounting bracket weight

1.02 + 0.40 = 1.42 kg

O
2




Construction

Plate Cylinder: Single Acting, Spring Return/Extend Series M U

Spring return

Spring extend

5 4

10 @9

ii@
i

“B” section MU[J25

wpn

R

=

g

&

==

“A” section MU[J25

Component Parts

13

g

o PP

@

i

“B” section MULJ25

Replacement Parts/Seal Kit

No. Description Material Note Bore size Kit no.
1 | Rod cover Aluminum alloy Anodized (mm) Spring return | Spring extend e
2 | Head cover Aluminum alloy Anodized 25 MU25S-PS MU25T-PS
3 | Cylinder tube Aluminum alloy Hard anodized 32 MU32S-PS | MU32T-PS | For spring return type:
4 | Piston Aluminum alloy Chromated @, @, @® as a set
5 | Piston rod Carbon steel Hard chrome plated 40 MU40S-PS MU40T-PS For spring extend type:
6 |Bushing Oil-impregnated sintered alloy 50 MUS0S-PS | MUSOT-PS | (3, (g, 1, @ as a set
7 Hexagon socket Stai 63 MU63S-PS | MU63T-PS
head bolt ainless steel — - .
a # Seal kit includes (5, 18, (7, (9 (excluding (5 for spring return type). Order them
8 | Wear ring Resin with a part number for each bore size.
9 | Magnet — Only built-in magnet type * Since the seal kit does not include a grease pack, order it separately.
10 | Return spring Steel wire Zinc chromated Grease pack part no.: GR-S-010 (10 g)
11 | Element Bronze
12 | Retaining ring Spring steel
13 | Plug Chromium molybdenum steel
Only attached to
14 | Rod end nut Rolled steel rod or malo thread
15 | Rod seal NBR
16 | Piston seal NBR
17 | Bumper Urethane
18 | Bumper B Urethane

O

16



Series MU

Basic

Spring return GX GX Rod end female thread
>
= e |
Jian\
a L 1hka | Z i MM
8 O] ¥ / \
>
O - . -
Element Note) 2xP -
Cylinder port W @ @
N NSisie X er || B
Width across H
©|  feka —— ; 2. sioe
MM
@ + + Dimensions except mentioned above
r—\7 i are the same as male thread type.
> > } > However, K and KA dimensions are the
o - -
w 2 w same as male thread type.
B AL
A K N N 4 x ND through
H S + Stroke Female thread bore size gNE
4 x 2 x 9NC counterbore
ZZ + Stroke
>
[11]
I %
- ) om
2xBT
BX BS + Stroke BX Rod end nut
6% d
) P Element Note) ‘ i
Spring extend Cylinder port "\
a %)
) \
& O St B
} } @ ) . (mm)
- @ @ Part no. Size d Hi1 | B1 | C1 | D1
NT-03 25 M10 x 1.25 6 17 119.6 | 16.5
i NT-MUO3| 32 Mi12x125 | 7 | 19 [21.9]18
NT-04 40 M14 x1.5 8 22 | 254 | 21
H + Stroke S + Stroke NT-05 50,63 | M18x1.5 11 | 27 [31.2]26
ZZ + 2 x Stroke % A nut is attached to the rod Rod end nut material: Carbon steel
end male thread as standard. Surface treatment: Nickel plated
Note) Plugged for the MUB25
(mm)
Model |Standardstroke (mm)] A | AL | B | BS BT BX | BY | C D ET EY |[GX|GY | H K | KA
MUB25 5,10 22 |195] 24 | 42 |M5x0.8depth7.5| 9 7 54 | 12 | M5x0.8depth11| 26 |10 5 36 | 55 | 10
MUB32 5,10 26 |23.5| 28 | 50 | M6 x 1 depth 12 6.5 8 68 | 14 M6 x 1 depth 11 42 85| 55| 40 | 55 | 12
MUB40 | 5, 10,15,20 | 30 |27 32 | 54 |[M8x1.25depth13| 8 9 86 | 16 |M8x 1.25depth 11| 54 9 7 45 | 6 14
MUB50| 5,10,15,20 | 35 |32 39 | 64 |M10x1.5depth14.5]| 10 9 |104 | 20 |M10x1.5depth15| 64 |[11.5| 8 53 | 7 18
MUBG63 | 5,10,15,20 | 35 |32 50 | 63 [ M12x1.75depth 18 | 11 12 {124 | 20 |[M12x1.75depth15] 72 [11.5]10 56 | 7 18
(mm)
P Rod End Female Thread (mm)
Model
ode MM N NC ND NE | NS [ NX | NY — ™™ | TF S | 2z Modal A MM 77
MUB25 [M10x 1.25| 16.5 | 7.5depth4.5| M5x 0.8 | 4.3 | 48 | 6 26 [M5x08] — — 60 96 MUB25| 14 |M6x1depthi12| 74
MUB32 [M12x 1.25| 18 9 depth 5.5 | M6 x 1 51| 50 | 6.5| 28 |Rc1/8|NPT1/8| G1/8 | 63 | 103 MUB32| 14 |M8x125depth13| 77
MUB40 [M14 x 1.5| 18.5 [10.5depth 6.5|M8 x 1.25| 6.9 | 54 | 8 36 [Rc1/8|NPT1/8| G1/8 | 70 | 115 MUB40| 15 [M8x1.25depth13] 85
MUB50 [M18 x 1.5| 24 |13.5depth 8.5|M10x 1.5 8.7 | 64 |10 42 |Rc1/4|NPT1/4| G1/4 | 84 | 137 MUB50| 18 [Mi0x15depth15| 102
MUBG63 [M18 x1.5| 24 |17 depth 10.5|M12x1.75/10.5 | 63 |11 46 |Rc1/4|NPT1/4| G1/4 | 85 | 141 MUBG63| 21 |Mi0x15depth15] 106

= The position of the 4 flats of the piston rod is £3° in relation to the cylinder side surface.

17

~
Z

SVC



Plate Cylinder: Single Acting, Spring Return/Extend Series M U

Dimensions with Mounting Bracket

Foot

© &
& ©)

LH
~
x
[S]
-
(=]

Sy
i

LZ LS + Stroke
Spring return ZZ + Stroke

Spring extend ZZ + 2 x Stroke

Rod flange
2 xoFD
: ]
E E ! f -
@ 9
| =
FX FT
FZ

Single clevis
Double clevis

(mm)
Model |LD |LH|LS |LT |LX|LY |LZ| X | Y |ZZ
MUL25 | 55| 29 | 84|32 | 11 56 | 23 | 12 6 | 114
MUL32 | 66| 37 | 95|45 | 12 | 71| 27 | 16 8 | 127
MUL40 | 9 46 | 106 | 45| 15 | 89| 31 | 18 | 10 | 143
MUL50 |11 57 1126 | 5 18 [109] 37 | 21 | 11 | 169
MULG63 |13.5| 67 | 133 | 6 22 1129 | 48 | 24 | 14 | 179

Foot bracket material: Rolled steel
Surface treatment: Nickel plated

Head flange

2x oFD
1’ B T > >
YA L

|FT
Spring return ZZ + Stroke FX
Spring extend ZZ + 2 x Stroke FZ
(mm)

Model FD | FT | FV | FX | FY | FZ | Z2Z
MUF25, MUG25 | 5.5 8 76 14 66 24 104
MUF32, MUG32 | 7 8 94 | 16 82 | 28 | 111
MUF40, MUG40 | 9 9 118 18 102 32 124
MUF50, MUG50 | 11 12 144 22 126 39 149
MUF63, MUG63 | 13 14 | 168 | 30 | 148 | 50 | 155

Single clevis

@

_°
o __lof

2CD#1o

Spring return Z + Stroke
Spring extend Z + 2 x Stroke RR

Spring return  ZZ + Stroke
Spring extend Z + 2 x Stroke

O

Flange bracket material: Carbon steel
Surface treatment: Nickel plated

Double clevis

0o
\J
=iz
L H]
gl
| loxiss
L Cz=8}
(mm)
Model CDH10o [CX |CZ | L |RR| Z Y4
MUC25, MUD25| 83> 9 | 18 | 17 8 | 113 | 121
MUC32, MUD32| 107%™ | 11 | 22 | 22 | 10 | 125 | 135
MUC40, MUD40| 10°%** | 13 | 26 | 27 | 10 | 142 | 152
MUC50, MUD50| 147%¢°° | 16 | 32 | 32 | 14 | 169 | 183
MUC63, MUD63| 14%°° | 16 | 32 | 38 | 16 | 179 | 185

Clevis pin and retaining ring are

shipped together with double clevis.

Single/Double clevis material: Cast iron
Surface treatment: Painted

18



Plate Cylinder

Series MIU

Accessory Bracket Dimensions

Single Clevis (Double clevis pivot bracket)

CX=§2

Double Clevis (Single clevis pivot bracket)

DX=8%
(-

DY133
QKCZ, g '9,0 Y g
] < 2x0CT 3 2x0DT Ll B8
Q Q
N 2xoCR N N 2x 2DR
I T
e[S ) S5 Y
T - Tt iEs
T
cL W DL al s
CA cB DA DB
(mm) (mm)
Part no. Size |CA|[CB| CDHio |CE|CF|CH| ClI | CJ Part no. Size |DA |DB | DDH10o | DE | DF |DH | DI | DJ
MU-C02 25 53| 23 8% | 35| 4|11 |17 7 MU-D02| 25 53| 23 89" |385| 4| 11|17 7
MU-C03| 32 67| 27 | 110%™ |35 | 7|13 | 22 | 10 MU-D0O3| 32 67| 27 | 10%™ [35| 7| 13| 22| 10
MU-C04| 40 85| 31 109%™ [ 35| 10 | 13 | 27 | 10 MU-D04| 40 85|31 | 109%™ |35[ 10| 13|27 | 10
MU-C05| 50 103 | 37 | 147%™ |55 | 12 | 17 | 32 | 14 MU-D05| 50 103 | 37 | 14%°° |55 | 12 | 17 | 32 | 14
MU-C06 63 122 | 48 | 14%"° | 6 14 | 19 | 38 | 16 MU-DO06 63 122 | 48 | 14%°° | 6 14 | 19 | 38 | 16
Partno. |CL |CR|CT |CX | CZ Partno. | DL | DR | DT | DX | DY | DZ |Applicable pin
MU-C02| 26 | 53| 95| 9| 8 MU-D02| 26 | 53| 95| 18 | 9| 8 | CD-MU0O2
MU-C03| 42 | 64|11 | 11 | 10 MU-DO3| 42 | 64|11 | 22 | 11 | 10 | CcD-Muo3 Material:
MU-C04| 54 | 84|14 | 13 | 10 MU-DO04| 54 | 8.4[14 | 26 | 13 | 10 | CD-MU04 gﬁ‘fftagg”
MU-C05| 64 [10.5|17 | 16 | 14 Material: Cast iron MU-DO5| 64 [10.5(17 | 82 | 16 | 14 | CD-MUO5 ooiions.
MU-C06| 72 |13 |20 16 | 16  Surface treatment: Painted MU-D06| 72 |13 |20 32 | 16 | 16 | CD-MUO5 Ppainted

Single Knuckle Joint

Clevis pin and retaining ring are attached to double clevis.

Double Knuckle Joint

Sp,
"“H.er@
x“mﬁf@;}
i
L As

Né' o2 51 I 1 QN';I. TL T

= { i 1 = S b \

[} e w N ++ S 11 LWl

8 T g ¥ 8 ——1 - ¢

i el | I 1 y Ll |}
| UI - U
NO . NO ]
NL, L LNLL Ly J
(mm) (mm)

Part no. Size A1 E1 L1 MM Part no. Size A1 E1 L1 MM NDH10
I-MU02 25 10.5 16 27 M10 x 1.25 Y-MUO02 25 10.5 14 27 |M10x1.25 89%°
1-MU03 32 12 18 31 M12 x 1.25 Y-MUO03 32 12 18 31 |[M12x1.25| 10%*®
I-MU04 40 14 20 36 M14 x 1.5 Y-MU04 40 14 20 36 |M14x1.5| 10'9*°
I-MU05 50, 63 18 28 46 M18 x 1.5 Y-MUO05 50,63 | 18 28 46 |M18x1.5] 1479°°
Part no. NDH10 NL NO NX R1 U1 Part no. NL | NO | NX | NZ | R1 | U1 | Applicable pin
1-MU02 8'5™® 85 | 195 9 8.5 11 Y-MUO02 8 | 21 9 | 18 3 13 CD-MU02
1-MUO03 1079%° 10 24 11 10 14 Y-MUO03 10 | 24 | 11 | 22 4 14 CD-MU03
I-MU04 109%° 11 26 13 11 15 Y-MU04 10 | 27 | 13 | 26 5 17 CD-MU0O4
I-MU05 147307 16 36 16 16 20 Y-MUO05 16 | 39 | 16 | 32 6 23 CD-MUO5

19

Material: Rolled steel
Surface treatment: Nickel plated

+ Knuckle pin and retaining ring

are included.

Material: Rolled steel
Surface treatment: Nickel plated



Clevis Pin/Knuckle Pin

piate cylinder Series MU

-
T [©]
- T| ©
Ql ©
m ¢ m
s
t L Nt
(mm)
Part no. Size Dd9 L d ¢ m t Retaining ring
CD-MU02 25 80878 23 76 | 182 | 15 0.9 | Type C8 for axis
CD-MUO03 32 1025078 27 9.6 | 222 | 1.25 | 1.15 |Type C10 for axis
CD-MU04 40 102867 31 9.6 | 26.2 | 1.25 | 1.15 | Type C10 for axis
CD-MUO05 | 50,63 1425083 38 13.4 | 322 | 1.75 | 1.15 |Type C14 for axis

+ These are provided as standard for double clevis and
double knuckle joint.
=% Type C retaining rings for axis are attached.

O

Material: Carbon steel

20



Series MU

Auto Switch Proper Mounting Position (Detection at stroke end) and Mounting Height

D-M9C] D-M9CIV
D-M9IW D-M9IWV
D-M9JAL D-M9JAVL
D-A9C] D-A9C1V
A B AL B
il 1 N
>
<
;ﬁz L 1
U
D-M9L] D-M9LIV D-M9LIV
_ D-M9CIW D-M9CIWV D-A90] D-M9CIWV
Size D-M9LIAL D-M9JAVL D-M9LJAVL
A B A B Hs Hv A B A B Hs Hv
25 5 5 5 5 7.5 27.5 1 1 1 — —
32 5] 5 5| 5] 14.5 30 1 1 1 — —
40 5.5 5.5 55 5.5 16.5 37 1.5 15 1.5 1.5 — —
50 7 7 7 7 — — 3 ) 3 — —
63 7.5 7.5 7.5 7.5 — — 3.5 3.5 3.5 3.5 — —

Minimum Stroke for Auto Switch Mounting

D-M9[] D-M9CIwW
Number of auto switches D-M9o[C1V D-M9OWV
mounted D-A9[] D-A9[JAL
D-A9[1V D-A9[JAVL
1 10 10
2 10 15
Operating Range
Auto switch model Size
uio swi 25 | 32 | 40 | 50 | 63
D-M9LCI/M9IV
D-M9CIW/M9CIWV 5.5 5.5 5.5 5 5
D-M9CIAL/MOLC]IAVL
D-A91/A91V 7.5 8 8 7 6.5

= Since the operating range is provided as a guideline including hysteresis,

it cannot be guaranteed. (assuming approx. +30% dispersion)
It may vary substantially depending on the ambient environment.

21




piate cylinder Series MU

Mounting and Moving Method of Auto Switch

@ Stroke of 20 or less . Stroke of 25 or more
1. First insert the auto switch into the switch groove. 1. First press the auto switch mounting bracket into the switch groove.
2. Then, press the auto switch mounting bracket into the switch 2. Then, insert the auto switch into the switch groove, and slide it onto

groove. the auto switch mounting bracket.

# Slide the end of the auto switch under the auto switch mounting
bracket.
Auto switch mounting bracket (MUZ-025)
Auto switch Auto switch mounting bracket (MUZ-025) Auto switch

\
0

"o N

/W;

D Mounted from the 3. Confirm where the mounting position is, and tighten the auto switch
/ ) rear end. mounting screw using a flat head screwdriver to fix the auto switch.

* The auto switch mounting bracket should be
mounted from the rear end.

3. Confirm where the mounting position is, and tighten the auto switch
mounting screw using a flat head screwdriver to fix the auto switch.

Auto Switch Mounting Bracket Part No.

Applicable bore size (mm)
25 32 40 | 50 | 63
MuC-00z MUZ-025

Note 1) For strokes of 25 or more, mounting method A is also possible.

Note 2) When tightening the auto switch mounting screw, use a watchmaker’s screwdriver with
the handle diameter of about 5 to 6 mm.
The tightening torque of the mounting screw should be approx. 0.05 to 0.1 N-m.
As a guide, turn an additional 90 degree from the position where it feels tight.

Cylinder series

22

O
2



Series MU

| Mounting of Magnetic Field Resistant Auto Switch (D-P3DW( series)

When the magnetic field resistant auto switch (D-P3DWO series) is mounted, only 940 to 63 of the existing MU series

are available.

How to Order

MDU

40

30

P3DWSC

With auto switchT

(Built-in magnet)

Auto switch

[ Nil [ None

l

Number of auto switches

Nil 2 pcs.
S 1 pc.
n “n” pcs.

= When cylinders/actuators are ordered with
an auto switch, the cylinder/actuator, auto
switch and auto switch mounting bracket
(including screws) are enclosed.

= When the auto switch is ordered on its
own, the auto switch mounting bracket is
not included. In that case, please order it
separately.

How to order the auto switch independently

Mounting = For auto switch model, refer
B Basic to “How to order the auto
L Axial foot switch independently.”
F Rod flange
G Head flange
C Single clevis . .
D Double clevis ®Rod end configuration
# Brackets are shipped together, Nil_| Rod end female thread
(but not assembled). M Rod end male thread
Size ® .

40 | Equiv. 40 piston area ®Action :

50 | Equiv. 950 piston area | D_[Double acting

63 | Equiv. 963 piston area

Port thread type ®

Nil Rc
TN NPT
TF G

240, 950, 663

on page 2.

o Cylinder stroke (mm)
Refer to “Standard Stroke”

D-P3DW

ILead wire length

SC

SC | 0.3 m (M12 connector type: 3 to 4 pins)
SE 0.3 m (M12 connector type: 1 to 4 pins)
Nil 0.5m
L 3m
Z 5m

Auto Switch Proper Mounting Position (Detection at stroke end) and Mounting Height

A
Bore size (mm) A B Hs
&) 40 3 3.5 51.5
[ = @iﬁ 50 45 | 5 | o
l A I 4—%%@4 @ 63 5 55 | 71
&[]
Auto switch B
o0 B8 oo 7 o =S
(]
) & &
Minimum Stroke for Auto Switch Mounting Auto Switch Operating Range
(mm)
Number of auto switches mounted | Same surface [ Different surfaces Bore size
1 15 40 50 63
2 15 6 6 6

23

# Since the operating range is provided as a guideline including hysteresis,

it cannot be guaranteed. (assuming approx. +30% dispersion)
It may vary substantially depending on the ambient environment.




Mounting and Moving Method of Auto Switch

piate cylinder Series MU

1. Insert the protrusion on the bottom of the auto switch into the mat-
ing part of the auto switch mounting bracket and fix the auto switch
and the auto switch mounting bracket temporarily by tightening the
hexagon socket head bolt (M2.5 x 9L) 1 to 2 turns.

2. Slide the auto switch mounting nut into the auto switch mounting
rail, and place it in the roughly estimated setting position.

3. Fix the auto switch mounting bracket and nut with the hexagon
socket head bolts (M3 x 4L) temporarily.

4. Move the auto switch mounting bracket while checking the detec-
tion position of the auto switch, and fix it firmly with the hexagon
socket head bolts.

Note 1) The torque for tightening the hexagon socket head bolt (M2.5 x
9L)is 0.2to 0.3 N-m.

Note 2) The torque for tightening the hexagon socket head bolt (M3 x
4L)is 0.5t0 0.7 N-m.

Auto Switch Mounting Bracket Part No.
(Including Bracket, Bolt, Nut)
Bore size (mm)
40 \ 50 \ 63
MDU25-42-4365M-R

O

Hexagon socket — ;‘ ee ;( g %%Tt socket
head bolt
(M3 x 4L) ‘wu

Auto switch Auto switch

mounting bracket

Auto switch
mounting nut

SMC 24



Safety Instructions

These safety instructions are intended to prevent hazardous situations and/or equipment damage.
These instructions indicate the level of potential hazard with the labels of “Caution,” “Warning” or
“Danger.” They are all important notes for safety and must be followed in addition to International

Standards (ISO/IEC)*1), and other safety regulations.

%1) 1ISO 4414: Pneumatic fluid power — General rules relating to systems.

ISO 4413: Hydraulic fluid power — General rules relating to systems.

IEC 60204-1: Safety of machinery — Electrical equipment of machines. (Part 1: General requirements)
ISO 10218-1: Manipulating industrial robots - Safety.

etc.

H « Caution indicates a hazard with a low level of risk which, if not avoided, could result in minor or
/\ Caution:

moderate injury.

A Wal‘nlng . Warning indicates a hazard with a medium level of risk which, if not avoided, could result in death or

serious injury.

« Danger indicates a hazard with a high level of risk which, if not avoided, will result in death or serious
/\ Danger : P29 9

injury.

A\ Warning

. The compatibility of the product is the responsibility of the person who designs the equipment

or decides its specifications.

Since the product specified here is used under various operating conditions, its compatibility with specific equipment must
be decided by the person who designs the equipment or decides its specifications based on necessary analysis and test
results. The expected performance and safety assurance of the equipment will be the responsibility of the person who
has determined its compatibility with the product. This person should also continuously review all specifications of the
product referring to its latest catalog information, with a view to giving due consideration to any possibility of equipment
failure when configuring the equipment.

. Only personnel with appropriate training should operate machinery and equipment.

The product specified here may become unsafe if handled incorrectly. The assembly, operation and maintenance of
machines or equipment including our products must be performed by an operator who is appropriately trained and
experienced.

. Do not service or attempt to remove product and machinery/equipment until safety is confirmed.

1. The inspection and maintenance of machinery/equipment should only be performed after measures to prevent falling
or runaway of the driven objects have been confirmed.

2. When the product is to be removed, confirm that the safety measures as mentioned above are implemented and the
power from any appropriate source is cut, and read and understand the specific product precautions of all relevant
products carefully.

3. Before machinery/equipment is restarted, take measures to prevent unexpected operation and malfunction.

. Contact SMC beforehand and take special consideration of safety measures if the product is to

be used in any of the following conditions.

1. Conditions and environments outside of the given specifications, or use outdoors or in a place exposed to direct
sunlight.

2. Installation on equipment in conjunction with atomic energy, railways, air navigation, space, shipping, vehicles, military,
medical treatment, combustion and recreation, or equipment in contact with food and beverages, emergency stop
circuits, clutch and brake circuits in press applications, safety equipment or other applications unsuitable for the
standard specifications described in the product catalog.

3. An application which could have negative effects on people, property, or animals requiring special safety analysis.

4. Use in an interlock circuit, which requires the provision of double interlock for possible failure by using a mechanical
protective function, and periodical checks to confirm proper operation.

Back page 1

SvVC

O



Safety Instructions

/A Caution

1. The product is provided for use in manufacturing industries.
The product herein described is basically provided for peaceful use in manufacturing industries.
If considering using the product in other industries, consult SMC beforehand and exchange specifications or a contract
if necessary.
If anything is unclear, contact your nearest sales branch.

Limited warranty and Disclaimer/Compliance Requirements

The product used is subject to the following “Limited warranty and Disclaimer” and “Compliance Requirements”.
Read and accept them before using the product.

Limited warranty and Disclaimer

1. The warranty period of the product is 1 year in service or 1.5 years after the product is delivered.*2)
Also, the product may have specified durability, running distance or replacement parts. Please consult your nearest
sales branch.

2. For any failure or damage reported within the warranty period which is clearly our responsibility, a replacement product
or necessary parts will be provided.
This limited warranty applies only to our product independently, and not to any other damage incurred due to the failure
of the product.

3. Prior to using SMC products, please read and understand the warranty terms and disclaimers noted in the specified
catalog for the particular products.

*2) Vacuum pads are excluded from this 1 year warranty.
A vacuum pad is a consumable part, so it is warranted for a year after it is delivered.
Also, even within the warranty period, the wear of a product due to the use of the vacuum pad or failure due to the deterioration of
rubber material are not covered by the limited warranty.

Compliance Requirements

1. The use of SMC products with production equipment for the manufacture of weapons of mass destruction (WMD) or
any other weapon is strictly prohibited.

2. The exports of SMC products or technology from one country to another are governed by the relevant security laws
and regulations of the countries involved in the transaction. Prior to the shipment of a SMC product to another
country, assure that all local rules governing that export are known and followed.

Back page 2




Al

Series MU

Be sure to read before handling.

Specific Product Precautions

Refer to back pages 1 and 2 for Safety Instructions, “Handling Precautions for SMC

Products” (M-E03-3) for Actuators Precautions.

|

Mounting \

Handing of Auto Switches

/\ Caution

1. When a workpiece is secured to the end of the piston

rod, ensure that the piston rod is retracted entirely,
and place a wrench on the portion of the rod that
protrudes beyond the section. Also, tighten in a way
that prevents the tightening torque from being
applied to the non-rotating guide.

Allowable Torque for Mounting Workpiece (N-m)
Size 25 | 32 | 40 | 50 | 63
Allowable torque for mounting workpiece| 0.25 | 0.25|0.55|1.25| 2.0

Back page 3

. Operate in such a way that the load to the piston rod

is always applied in the axial direction. Furthermore,
avoid operations that could apply rotational torque
to the piston rod. If rotational torque must be applied
due to unavoidable circumstances, make sure the
allowable rotational torque is not exceeded.

. Operating the cylinder by connecting the piping

directly to the cylinder can cause the piston speed to
exceed the maximum operating speed of 500 mm/s.
Therefore, to operate the cylinder, make sure to use
an SMC speed controller and adjust the piston speed
to 500 mm/s or less.

O

1.

Be sure to read before handling.
Refer to “Handling Precautions for SMC Products”
(M-E03-3) for Auto Switches Precautions.

AWarnlng

If multiple cylinders are operated adjacent to each
other, the magnets that are enclosed in the adjacent
cylinders could affect the operation of the auto
switches, causing the switches to malfunction.
Therefore, make sure that the mounting pitch of the
cylinders is at least that indicated in the below table.

'
R

K
|

ke
5110

o
T T

i

Cylinder minimum
mounting pitch

(mm)

Size 025 232 240 250 263

L (d) 29(5) | 33(5)| 37(5) | 39(0) | 50(0)

SvVC

If cylinders are used with a mounting pitch less than shown
above, they must be shielded with iron plates or the separately
sold magnetic shielding plate (part no.: MU-S025). Please
contact SMC for further information.

e}
—

36

Material: Ferrite stainless steel Thickness: 0.3 mm

Since the back side is treated with adhesive, it can be attached to the cylinder.
How to use

In order not to influence the auto switch mounted on cylinder B
adjacent to the magnetic force of cylinder A, use a shielding
plate to block the magnetic force.

O

©
©

Shielding plate

SS

Auto switch< 1 /]

Cylinder A Cylinder B






SMC'S GLOBAL MANUFACTURING, DISTRIBUTION AND SERVICE NETWORK

W W 4 ;
yauun / H % o H
U Gl
) )
Il
- ZS\VC
a2
, 7 Vi
1
= Wi ¥ |
]
# §asicint it
EUROPE NETHERLANDS SINGAPORE
AUSTRIA SMC Pneumatics B.V. SMC Pneumatics (S.E.A.) Pte. Ltd.
SMC Pneumatik GmbH (Austria) NORWAY SOUTH KOREA
BELGIUM SMC Pneumatics Norway AS SMC Pneumatics Korea Co., Ltd.
SMC Pneumatics N.V./S.A. POLAND TAIWAN
BULGARIA SMC Industrial Automation Polska Sp.z.0.0. SMC Pneumatics (Taiwan) Co., Ltd.
SMC Industrial Automation Bulgaria Eood ROMANIA THAILAND
CROATIA SMC Romania S.r.I. SMC (Thailand) Ltd.
SMC Industrijska Automatika d.o.o. RUSSIA
CZECH REPUBLIC SMC Pneumatik LLC NORTH AMERICA ————
SMC Industrial Automation CZ s.r.o. SLOVAKIA CANADA
DENMARK SMC Priemyselna Automatizacia Spol s.r.o. SMC Pneumatics (Canada) Ltd.
SMC Pneumatik A/S SLOVENIA MEXICO
ESTONIA ) SMC Industrijska Avtomatika d.o.0. SMC Corporation (Mexico), S.A. de C.V.
SMC Pneumatics Estonia OU SPAIN/PORTUGAL U.S.A.
FINLAND SMC Espafia S.A. SMC Corporation of America
SMC Pneumatics Finland Oy SWEDEN
FRANCE SMC Pneumatics Sweden AB SOUTH AMERICA ————————
SMC Pneumatique SA SWITZERLAND ARGENTINA
GERMANY SMC Pneumatik AG SMC Argentina S.A.
SMC Pneumatik GmbH U.K. BOLIVIA
GREECE SMC Pneumatics (U.K.) Ltd. SMC Pneumatics Bolivia S.r.I.
SMC Hellas E.P.E. BRAZIL
HUNGARY ASIA SMC Pneuméticos do Brasil Ltda
SMC Hungary Ipari Automatizalasi Kft. CHINA CHILE
IRELAND SMC (China) Co., Ltd. SMC Pneumatics (Chile) S.A.
SMC Pneumatics (Ireland) Ltd. HONG KONG VENEZUELA
ITALY SMC Pneumatics (Hong Kong) Ltd. SMC Neumatica Venezuela S.A.
SMC ltalia S.p.A. INDIA
LATVIA SMC Pneumatics (India) Pvt. Ltd. OCEANIA
SMC Pnuematics Latvia SIA MALAYSIA AUSTRALIA
LITHUANIA SMC Pneumatics (S.E.A.) Sdn. Bhd. SMC Pneumatics (Australia) Pty. Ltd.

UAB “SMC Pneumatics”

PHILIPPINES
Shoketsu SMC Corporation

NEW ZEALAND
SMC Pneumatics (N.Z.) Ltd.

]ASafety Instructions ‘ Be sure to read “Handling Precautions for SMC Products” (M-E03-3) before using.

SMC Corporation

Akihabara UDX 15F,

4-14-1, Sotokanda, Chiyoda-ku, Tokyo 101-0021, JAPAN

Phone: 03-5207-8249 Fax: 03-5298-5362
URL http://www.smcworld.com
© 2009 SMC Corporation All Rights Reserved

Specifications are subject to change without prior notice

and any obligation on the part of the manufacturer.

D-DN

1st printing NT printing NT 6000SZ  Printed in Japan.

This catalog is printed on recycled paper with concern for the global environment. |




